@j;g+bk

PEERLE e

108#1% 1p 310837 317

H ,’:‘v_:—ﬁ e

7P B4 £ 5F Wk &I

W& 2 25 (A=14243) 1,435, 489 1, 570, 627
i) 404, 889 540, 027
FEAEPFZB U - EpDE 2 2 EEH(2) 1, 030, 600 1, 030, 600
RS A RSP F A & = E A E)) - -
= T RRF A (B=4-5+6+7) 21,371 106, 940
it & A (4) 1,030,600 | 1,030,600
nB ERTARGFDFZ B 0 o - EP D2 TP FAHLIND) 1, 030, 600 1, 030, 600

T e #5258 (6) 12,124 70, 794
SN END) 9, 247 36, 146
cedp R (C=8-9+10+11+412-13) 386, 865 359, 661
e g (8) 435, 341 405, 841
b f R L R A REER £237(9) 77, 756 75, 746
T~ £ (10) 28, 857 27, 644
T it (1) 17 17
ez FREER(12) 406 1,905
Rcr FHEIET B L R AR A REER £297(13) - -
FAMPAEE S AR TED) 114 5, 867
¥ % F & (E=A+B-C-D) 1,069,881 | 1,312,039

Ll REZ LG RRE(FHEDFHE P =B PP FHE)
Pk - ERII R R HRERTAT G AY T - E I W FA
2:ef ¥ %m?ﬁﬂﬁ@*vﬂwﬁﬁém$ Misd AT iR 23 inb 4RT A -
ZooH ,,.ﬁvfﬁﬂ;;ﬁ%”‘ﬁﬁ\ﬁﬁﬁe B2t - Fp Dz 2

3B ARG AR EP P L

Mgz B &R & 42

T

G REE S B

fe e i 78 2

b AT AT EHDEZ
=R R

)\ N %fr‘{(l

FRIEIEST R B R RN A RIER £ 230

43?$Wﬁ¥?%$%ﬁﬁﬁﬂﬁﬁTmi.wﬂ&%%*ﬁﬁﬁyﬁbﬂﬂifé@ﬂﬁ?iféfﬂ’ﬁ
BEOREFEMEPA A BAZ AR TAEAD > ZELALRERT YT -
BrE o F & i FRE L A2 ;\,;ﬁrn«ﬁp BWF ia’?a‘rxffrﬁﬂ/;w?w%é FaFrmgetEd AR Tk

AT EHIERETRTEY 2T 4 o

o

LL#£2108#3231p 2k »HAFT* FEKDA7 % F £H424,21588,000~ > 1 &
PR fEr A BB r cHE R YT 2R 1L H g M E SRR AR PR > S
T ARG RTINEIRAAIREE ) A EREDP RIS FIRPXAT P FT EH 4 o

L P ﬁﬁ*ﬂ%{
WA T4

2.8 310837 31p k2 £ % igdeT
Hi=:+ =
# £ 1
AR 295,255
JRAF 72,168
ALz * 5% 7,738
e gz {14 772
F7H > 4745 2 Hegl 65,296
BATERF Gedl]) 82
gF, F s~ GBS A B
fres (A e 2 inEd § 15,105
m o R R ERLH 259
H e 2
& 3 456,677




